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QUESTION 1
Please read this scenario prior to answering the question

Your role is that of the Lead Enterprise Architect at a multinational automotive corporation. The company is
headquartered in Germany, and manufactures cars, trucks and buses. It has manufacturing plants across North
America, South America, Europe and Asia. Each of these plants has been operating its own planning and production
scheduling systems, as well as custom developed applications that drive the automated production equipment at each
plant.

The company has an ongoing initiative to improve the efficiency of all of its production operations, and in particular to
reduce its carbon footprint. During a recent exercise held for internal quality improvement, it was determined that a
significant reduction in energy usage could be achieved by replacing the current planning and scheduling systems with
a common Enterprise Resource Planning (ERP) system located in one central data center. This central system would
provide support to each of the plants replacing the functionality in the existing systems. It would also eliminate the need
for full data centers at each of the plant facilities.

The Enterprise Architecture department has been operating for several years and has mature, well-developed
architecture governance and development processes that are based on the TOGAF standard. At a recent meeting, the
Architecture Board approved a Request for Architecture Work sponsored by the global CIO. The request covered the
initial architectural investigations and the development of a comprehensive architecture to plan the transformation.

Refer to the Scenario

You have been asked to select the most appropriate recommendation to ensure that the team evaluated different
approaches to the problem and clarifies the requirements for the architecture.

Based on the TOGAF standard, which of the following is the best answer?

A. The team should identify the individuals and groups within the organization who will contribute to the project, in order
to understand who has concerns about the initiative. The team should then hold a series of interviews at each of the
manufacturing plants using the business scenario technique. This will then enable them to identify and document the
key high-level stakeholder requirements for the architecture.

B. The team should exercise due diligence and carefully research vendor literature and conduct a series of briefings
with vendors that are on the current approved supplier list. Based on the findings from the research, the team should
define a preliminary Architecture Vison. The team should then use that model to build concerns among the key
stakeholders.

C. The team should perform a shallow architecture development iteration, developing Baseline and Target Architectures
for each of the manufacturing plants. This should include development of a set of views corresponding to selected
viewpoints that address key concerns of the stakeholders. A consolidated gap analysis between the architectures will
then be used to validate the approach, and determine the capability increments needed to achieve the target state.

D. The team should utilize its approved supplier list, and conduct a pilot project that will enable those suppliers to
demonstrate potential solutions that will address the concerns of the stakeholders. Based on the findings of that pilot
project, a complete set or requirements will be developed that will drive the evolution of the architecture.

Correct Answer: A

QUESTION 2

TotalComms is a telecommunications company formed from the merging of other 2 telecommunication
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companies. The business operating model has been unified, the TOGAF 9 Architecture Board approved
the outline Implementation and Migration Plan the detailed migration planning must know be approved.
Your help is needed to work on the migration planning with all the key stakeholders to achieve an
agreement.

Refer to the scenario above

You are the Lead Architect asked to describe accordingly to TOGAF 9 the best way to address the
following activities:

The way the migration planning is conducted.

What is going to be implemented.

The stakeholders involved in the implementation. The definition of the deliverables to use

Choose one of the following answers

A. The Chief Architect will conduct the Migration planning and then share it with the other domain architects. The
migration plan will be formed by a list of projects, their priority, their costs and a recommendation on how to proceed.
After the plan is shared with the Architectural Board members and any observation that may raise incorporated in the
plan, any individual project will go in front of the board for the approval for resources for the next project increment. A
GANT chart will be included to be used as a roadmap.

B. The Migration planning will be conducted as a series of steps: confirming and then coordinating the corporate
management frameworks involved; establishing clear business value for the deliverables; creating detailed resource
estimates for the work to do; define priority of the work, sequence and then the Transition Architectures. After this, an
Implementation and Migration Plan can be confirmed. The Portfolio Management, Operations Management and
Business Planning teams should be involved in the implementation of the major deliverables. Once these have been
completed, regular meetings will be done to enable the architecture to be kept up-to-date.

C. Implementation and Migration Strategy will be used to define project plans focusing on scope, time and budget. The
business value of each project is assessed and Project Managers will prepare submissions to the IT governance Board
to ask for their funding and the Lead Architect will be active part of the board. The collection of project roadmaps and
plans will be used to detail the EA Implementation and Migration Plan.

D. This step will be conducted by the Enterprise Architecture team involving Business, Application, Data, Technology,
and Security architects. They will implement the Transition Architectures and together will prioritize a list of activities and
include the Architecture Building Blocks in an Implementation and Migration Plan and Roadmap. After this, the
comments on the deliverables shared with lines of business and the members of the Executive Board are integrated,
this to enable the funding on the Enterprise Architecture work.

Correct Answer: B

QUESTION 3

ARTI Dimensioning is a multinational that operates production facilities in 29 countries and sells its products in over 120
countries. A consultancy firm has recommended a realignment that will enhance sharing of product information across
business units. The implementation of this strategic realignment will require the development of integrated customer
information systems and product information systems. ARTI has a mature enterprise architecture practice and uses
TOGAF 9 for the basis of the ARTI Architecture Framework (method and deliverables). The CIO is sponsoring an
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architecture development program that is going to start. The CIO is concerned about a potential disruptive result to the
business of this activity and before proceeding with the architecture development he asked to evaluate the impacts on
the company business. Refer to the scenario above You are the Lead Architect and you have been asked to
recommend an approach to address the concerns raised. Based on TOGAF 9 recommend which of the following is the
best answer.

Choose one of the following answers.

A. A Risk Aversion Assessment should be conducted during the Implementation Governance phase to determine the
degree of risk aversion of the proposed business transformation. After sharing the residual level of risk with the
company chairman and the residual risk is not accepted, a set of parallel systems will be implemented to mitigate the
risks.

B. Your recommendation is to use risk management techniques to assess the risks associated with the proposed
business transformation and ensure the existence of business continuity plans. During the Implementation Governance
phase you conduct a residual risk assessment to manage risks that cannot be mitigated.

C. During the Architecture Vision phase a risk assessment is conducted to mitigate initial risks and address those in the
Architecture Contract signed in the Implementation Governance phase.

D. Your proposal is to utilize a risk management framework during the Implementation Governance phase to verify the
risks associated with the proposed transformation of the business. You then share with the concerned stakeholders the
residual level on risk before the Architecture Contracts are released.

Correct Answer: B

QUESTION 4
Scenario: Rollins Manufacturing
Please read this scenario prior to answering the question

Rollins Manufacturing is a major supplier in the automotive industry, headquartered in Cleveland, Ohio with
manufacturing plants in Chicago, Sao Paulo, Stuttgart, Yokohama, and Seoul. Each of these plants has been operating
its own Manufacturing Requirements Planning (MRPII) system, production scheduling, and custom developed
applications that drive the automated production equipment at each plant.

Rollins is implementing lean manufacturing principles to minimize waste and improve the efficiency of all of its
production operations. During a recent exercise held for internal quality improvement, it was determined that a
significant reduction in process waste could be achieved by replacing the current MRPII and scheduling systems with a
common Enterprise Resource Planning (ERP) system located in the Cleveland data center. This central system would
provide support to each of the plants replacing the functionality in the existing systems. It would also eliminate the need
for full data centers at each of the plant facilities. A reduced number of IT staff could support the remaining applications.
In some cases, a third- party contractor could provide those staff.

The Rollins Enterprise Architecture department has been operating for several years and has mature, well-developed
architecture governance and development processes that are strongly based on TOGAF 9.At a recent meeting, the
Architecture Review Board approved a Request for Architecture Work from the Chief Engineer of Global Manufacturing
Operations who is the project sponsor. The request covered the initial architectural investigations and the development
of a comprehensive architecture to plan the transformation.

The Common ERP Deployment architecture project team has now been formed, and the project team has been asked
to develop an Architecture Vision that will achieve the desired outcomes and benefits. Some of the plant managers have
expressed concern about the security and reliability of driving their MRPII and production scheduling from a central
system located in Cleveland. The Chief Engineer wants to know how these concerns can be addressed.
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Refer to the Rollins Manufacturing Scenario

You are serving as the Lead Enterprise Architect of the newly-formed Common ERP Deployment architecture project
team.

As the Common ERP Deployment architecture project team assembles for its initial meeting, many of the participants
have voiced concerns about the sweeping scope of the initiative. Others are confident that they know a solution that will
work. During the meeting, a number of alternative recommendations for how to proceed are put forward by members of
the team. You have been asked to select the most appropriate recommendation to ensure that the team evaluates
different approaches to the problem and clarifies the requirements for the architecture.

Based on TOGAF 9, which of the following is the best answer?

A. The team should hold a series of interviews at each of the manufacturing plants using the business scenario
technique. This will then enable them to identify and document the characteristics of the architecture from the business
requirements.

B. The team should exercise due diligence and carefully research vendor literature and conduct a series of briefings
with vendors that are on the current approved supplier list. Based on the findings from the research, the team should
define a preliminary target Architecture Vision. The team should then use that model to build consensus among the key
stakeholders.

C. The team should create Baseline and Target Architectures for each of the manufacturing plants. A gap analysis
between the architectures will then validate the approach, and determine the Transition Architecture needed to achieve
the target state.

D. The team should conduct a pilot project that will enable vendors on the short list to demonstrate potential solutions
that will access the concerns of the stakeholders. Based on the findings of that pilot project, a complete set of
requirements can be developed that will arrive the evolution of the architecture.

Correct Answer: A

QUESTION 5
Please read this scenario prior to answering the question

Your role is that of a consultant to the Lead Enterprise Architect in a company that develops wind turbines for use in
wind farms. The company has three manufacturing facilities, one in North America, one in Asia, and one in Europe.
Each of these facilities supplies the power industry in its region.

The company recognizes that the long-term technical potential of wind energy can address the current global
dependency on carbon fuels, in order to do so this will require wind turbines to be installed over the large areas and in
areas of higher wind resources. In particular offshore wind farms can contribute substantially more energy than land
stationed turbines.

The research arm of the company has pioneered the development of an offshore wind turbine design, with an improved
turbine blade and power system, that will produce up to 20% more energy. This will allow the production of significantly
more salable energy. This new design is ready to go into production.

The company has a mature Enterprise Architecture practice supported by a cross-functional Architecture Board and
uses the TOGAF standard. The Chief Information Officer and the Chief Operating Officer cosponsor the Enterprise
Architecture program.

As part of putting the new design into production, a pilot architecture project has defined an updated standard approach
for controlling the automated test systems used to perform final quality assurance. The Chief Engineer, sponsor of the
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activity, and the Architecture Board have approved the plan for immediate implementation at each plant.

Architecture Contracts have been developed that detail the work needed to implement and deploy the new automated
test system controller for each location. The Chief Engineer has expressed concern that a uniform process be employed
at each location to ensure consistency and a low blade failure rate.

Refer to the Scenario
You have been asked to recommend the best approach to address the Chief Engineer\\'s concern.
Based on the TOGAF standard, which of the following is the best answer?

A. You create an Architecture Contract to manage and govern implementation and migration process at each location.
For internal development projects, you issue a memorandum of understanding between the Architecture Board and the
implementation organization. Fir contracts issued to an external party, you ensure that it is a fully enforceable legal
contract. You ensure that the Architecture Board reviews all deviations from the Architecture Contract, and considers
whether or not to grant a dispensation to allow the implementation organization to customize the process to meet their
local needs.

B. You create an Architecture Contract to manage and govern the implementation and migration process. If the contract
is issued to an external party, you ensure that it is a fully enforceable legal contract. For internal development projects,
you decide it is adequate to utilize a memorandum of understanding between the Architecture Board and the
implementation organization. You recommend that if a deviation from the Architecture Contrast is detected, the
Architecture Board grant a dispensation to allow the implementation organization the ability to customize the process to
meet their local needs.

C. You review the applicable Architecture Contract for each location, ensuring that it addresses the project objectives,
effectiveness metrics, acceptance criteria, and risk management. In cases where the contract is issued to an external
party, you ensure that it is a legally enforceable contract. You schedule compliance reviews at key points in the
implementation process to ensure that the work is proceeding in accordance with the Architecture Board reviews all
deviations from the Architecture Contract, and considers whether or not to grant a dispensation to allow the
implementation organization to customize the process to meet their local needs.

D. You use the Architecture Contracts to manage the architecture governance processes for the project across the
locations. You deploy monitoring tools to assess the performance of each completed steam turbine at each location and
develop change requirements if necessary. You recommend that if a deviation from the contract is detected the
Architecture Board should modify the Architecture Contract to allow the implementation organization the ability to
customize the process to meet their local needs. As a result, you then issue a new Request for Architecture Work to
implement the modified Architecture Definition.

Correct Answer: D
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